113# B1-27% & © & = Fxp B 40 3 &

00162835%

g

G| WE X cHA s (e mer | v | s (here i
= ‘3—?!'”- N\ 4 g , ey PO oy 2
Fﬁ?ﬁg Fhiry R o R sy MRF > | B N o R e T nd
1 A 20,000 11301 o S 0016155 % PR L F AN M ST
£ Py g)r;f'\»l g o 9‘?{}”’“‘ £ ‘),Tgl_j‘\;__ég Lbf‘;.,» op 4
2 [TERFEVT 80,000 | 11301 [msepases | "0 o2 E; i ERRER R
%‘;i;%%é?ﬁxi o o 2 AS ¥l o 2B 4% s oAE ’
, o , mRE S | ESNPES ENE I SEE R R
%0z 1, 11301 [seés = _
FEREME |, i 4 kR e g
- B [ B RNy R NS o
4 |R20& 1,000 11301 |sEddnm s -
o 5 0016175 BN E
5;’_%%?5?%1 4 PRERNNDVY £ S oo 4 [N ,
o , mRE S | ESNPES ENE I SEE R R
2042 2, 11301 |wcisde ! -
5 |%10 000 30 : MR | eien % Wit
FAREME |,k R g
: : - R | EENPL RN S SR E TS &
6 [F0 2,000 11301 |sEddnm s a
w0 5 0016195 ENEEL EA
5_"_%%?5?%1 4 PRERNNDVY £ S oo 4 [N ,
X S RN S | PN RS B REY TS
) é! A A :_ ‘E > e 95»3;)‘ P ja} )
8 ;Z$ ; LR 10,000 | 11302 |s3 %t 05162;; E;‘ R e
¢ R 2]
%02 1,200 | 11302 |#+4pm s 051255;,: E;‘ P A ROE A0 MY
ﬁo =2 B sm 3 ? Flgi’rz*f}::): .7?‘ kY P =4 g R B 4w 3B
F Qi 2,000 | 11302 |&F=4nhkigs 0016245 (% PRLARE R ATFAAMET
B0} 1,000 | 11302 |gommamy | PRFE B s pnas
' ’ =P 0016255 Oz | RAEESE
9 ¢ g
15045 1,000 | 11302 |#+4nm it Oglg;g;; E;‘ PEIL AR An
PO 3y
304 2,000 | 11302 |#w4nnt 5t Oglgg;;ff’ E;‘ PR RS T E AP MY
s 3y
Ok 2,000 | 11302 [®+4amiss oo i PR AR DG AP




